
SAP ABAP table T001W {Plants/Branches}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

EKORG [CHAR (4)]

BWKEY [CHAR (4)]

FABKL [CHAR (2)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

CITYC [CHAR (4)]

IWERK [CHAR (4)]

SPRAS [LANG (1)]

LIFNR [CHAR (10)]

ZONE1 [CHAR (10)]

 T001W-IWERK = T001W-WERKS 
0..N{0,1}

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 T001W-LIFNR = LFA1-LIFNR 
0..N

1

T000

MANDT [CLNT (3)]

 T001W-MANDT = T000-MANDT 
0..N

1

T001K

MANDT [CLNT (3)]

BWKEY [CHAR (4)]

 T001W-BWKEY = T001K-BWKEY 
0..N

1

T002

SPRAS [LANG (1)] T001W-SPRAS = T002-SPRAS 0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)] T001W-LAND1 = T005-LAND1 0..N

1

T005E

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

COUNC [CHAR (3)]

 T001W-COUNC = T005E-COUNC 
0..N{0,1}

T005G

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

CITYC [CHAR (4)]

 T001W-CITYC = T005G-CITYC 

0..N

{0,1}

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 T001W-REGIO = T005S-BLAND 

0..N

{0,1}

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 T001W-EKORG = T024E-EKORG 

1..N

1

TFACD

IDENT [CHAR (2)]

 T001W-FABKL = TFACD-IDENT 

0..N

1

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 T001W-ZONE1 = TZONE-ZONE1 

0..N

1


